APUOMETUYECKUMA
KOPEHb CTEMEHM N.




© BBeaeHue KopHeu ctenexHm n (n> 2)
No3BOJIAET pellaTb paumoHasibHble
YPaBHEHMS, KOTOPblE paHbLLE HE MO/ BbITb
pelleHbl. Hanpumep:

a) x’ = 0) g™ =

= 2 %y = A3, Xz=—A3




Pewum ypaBHeHue: x°—5x°+6=0
BeeAEM HOBYIO NepemMeHHyl: t = x°8
Nepenuwem ypaBHeHue B Buae: t2 —5t+6 =10
KopHM ypaBHEHMUSA =205 =3
/lenaem o6paTHYIO 3aMeHY:

=2 a"=3

xlz%’xzz—% x3:8\/§, x4:“‘£\;/§

Oteet: 32, —%/2, 3, =3/3




PelunTb ypaBHEHUA:

a) x* =16 6) 125+ x> =0
B) x° =31 r) x*=-4

A) x8—5x*+4=0

e) x°—-3x>—-4=0




